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Primary 3 Mathematics
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Item No. Answers Mark Remarks
1 3, 2 respectively 1 Must be all correct
2 Fifty-six thousand five hundred and nine | 1 Do not accept wrong spelling
3 55 000, 50 050 respectively 1 Must be all correct
4 997 1
5 A 1
6 964 1
7 C 1
8 C 1
9 108 1
10 854 1
11 6 1
12(1) 356 + 7 1 |Method Mark: other correct methods are
also acceptable
(2) =50...6 1* |Answer Mark (*please see remarks
below)
(3) He can make 50 cakes at most and 1** |Presentation Mark (*please see remarks
6 strawberries are left. below)
13 848 1
14(1) 888 — 247 — 416 1 |Method Mark: other correct methods are
also acceptable
(2) =225 1* |Answer Mark (*please see remarks
below)
(3) 225 greeting cards are left. 1** |Presentation Mark (*please see remarks
below)
15 476 1
16 2, 50 respectively 1 Must be all correct
Q17(a) 3 1
17(b L !
QL7(b) |1z
18 C 1
19(a) Write down any fraction which is equal 1
tol
. 7 1
19(b) Any fraction smaller than g
20 Circle ‘apple’ 1
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21(a) 11, 00 respectively 1 Must be all correct
21(b) 17, 45 respectively 1 Must be all correct
21(c) 3, 15 respectively 1 Must be all correct
22(a) 4 1
22(b) Pier 1 Wrong spelling is acceptable
23 B 1
24(a) 2 1
24(b) 280 1
25 C, A, B, D respectively 1 Must be all correct
26 D 1
27(1) metres / m 1 Do not accept wrong spelling
27(2) kilograms / kg 1 Do not accept wrong spelling
28 2500 1
29 A 1
30(a) E 1
30(b) B 1
31 D 1
32(a) D 1
32(b) A E 1 Must be all correct
33(a) Circle ‘under’ 1
33(b) Circle 1
34(a) C,D 1 Must be all correct
34(b) A 1
35(a) west 1 Do not accept wrong spelling
35(b)(1) south 1 Do not accept wrong spelling
35(b)(2) east 1 Do not accept wrong spelling
36(1) Title: Favourite Tourist Attraction of 1 | Holistic marking
P.3C Pupils Wrong spelling is acceptable
Other suitable titles are also acceptable,
but must include “Favourite’,
“Attraction” and “3C”
36(2) From top to bottom: 1 | Must be all correct
The Peak, Avenue of Stars Wrong spelling is acceptable
36(3) The Big Buddha: 7 pictures 1 Must be all correct
Stanley Market: 5 pictures Do not accept other pictures
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37(a) Circle ‘Jenny’, 5 1 Must be all correct
37(b) 3, circle ‘less’ 1 Must be all correct
37(c) Circle ‘John’, he has planted 11 trees. 1 Holistic marking
Accept other reasonable answers

Remarks: *Answer Mark - (1) Just the correct answer without showing any mathematical
expression(s), award the Answer Mark.

(2) Mathematical expression(s) is/are incorrect, do not award the
Answer Mark.

(3) Poor presentation in the mathematical expression(s) or workings
but correct answer given, award the Answer Mark.

**Presentation Mark: (1) Mathematical expression(s) is/are correct, but wrong answer
given, award the Presentation Mark.

(2) Mathematical expression(s) is/are incorrect, do not award the
Presentation Mark.

(3) Presentation mark includes holistic assessment of

mathematical expression(s), units (missing unit or wrong
unit), explanation, statement/conclusion and use of
symbols(including the equal sign). etc.
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